
1/1

MA.0576.799

001/ 28.01.2015

10Nm -1

2x D12-d6 2x M6x12 6x M6x10

1. 2.

3. 4.

Installation note: for extension M2740A#C02 only

M6x10 (3x)

M6x12

M2740A#C11

!   D12-d6


